INTERNATIONAL JOURNAL OF RESEARCH IN **COMMERCE, IT & MANAGEMENT**



A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories

Index Copernicus Publishers Panel, Poland with IC Value of 5.09 & number of libraries all around the world.

Circulated all over the world & Google has verified that scholars of more than 3130 Cities in 166 countries/territories are visiting our journal on regular basis.

CONTENTS

Sr.	TITLE & NAME OF THE AUTHOR (S)	Page
No.		No.
1.	DETERMINANTS OF REAL ESTATE MARKETING: AN EMPIRICAL STUDY ON SELECTED REAL	1
	ESTATE MARKETERS IN ADDIS ABABA, ETHIOPIA	
	DR. GETIE ANDUALEM IMIRU	
2.	A STUDY ON PROBLEMS AND PROSPECTS OF TEA GROWERS WITH PARTICULAR	7
	REFERENCE TO NILGIRIS DISTRICT (TN) IN INDIA DR. G. KAVITHA & M. JAMUNA RANI	
3.	A STUDY ON THE CHALLENGE FOR ARTISANS OF CONCH SHELL INDUSTRY IN WEST	11
J .	BENGAL	
	ANAMITRA PAUL & SEBAK KUMAR JANA	
4.	A CHRONOLOGICAL STUDY ON EMERGENCE OF PRIVATE LABEL BRANDS IN INDIAN	15
	ORGANIZED RETAIL	
	AJAY SINGH & DR. NRIPENDRA SINGH	
5.	MUTUAL FUNDS IN INDIA-RECENT ISSUES, OPPORTUNITIES AND CHALLENGES	20
	M.NAGABHASKAR & M.RAMU	
6.	GREEN MARKETING AND THEIR IMPACT ON ENVIRONMENT: A STUDY	23
	SUSHEELA RATHEE & AMIT RATHEE	
7 .	ASSESSING QUALITY OF WEBSITES THROUGH OBSERVATION	28
	DR. HEERA BARPUJARY	
8.	ANALYSIS ON THE CASH MANAGEMENT OF NEPA LIMITED	34
	DR. ADARSH ARORA	20
9.	DESTINATION BRANDING AS A MARKETING TOOL FOR DEVELOPING COUNTRIES: A	39
	COMPARATIVE ANALYSIS BETWEEN INDIA & SPAIN SWATI SHARMA & MAHESH UNIYAL	
10.	FINANCIAL LITERACY AND ITS' INFLUENCING FACTORS: AN EMPIRICAL STUDY OF INDIAN	43
10.	INVESTORS	43
	DR. BIDYUT JYOTI BHATTACHARJEE	
11.	STUDYING THE RELATIONSHIP BETWEEN CORPORATE GOVERNANCE AND FINANCING	47
	THROUGH THE TWO PERSPECTIVES OF BALANCE SHEET AND CASH FLOW STATEMENT IN	
	FIRMS ACCEPTED IN STOCK EXCHANGE TEHRAN (IRAN)	
	NASRIN DADASHI & EBRAHIM CHEIRANI	
12 .	POVERTY: TROUBLESOME THE PROBLEM & OVERCOME (AN INDIAN CONTEXT)	53
	DR. MANOJ KUMAR SHARMA & SUTHAR AAVANTI ASHOK	
13 .	ENFORCEMENT OF LAWS TOWARDS HAZARDOUS CHILD LABOR: A STUDY ON WELDING	57
	WORKSHOPS AT SYLHET CITY IN BANGLADESH	
	A.K.M. SOHEL HABIB NOWROZ & KOWSER JANNAT	
14 .	MODEL OF INTEGRATION OF SPIRITUALITY TOWARDS THE WORK BEHAVIOUR AND	62
	EMOTIONAL INTELLIGENCE AS MEDIATING VARIABLE: AN APPROACH OF STRUCTURAL	
	EQUATION MODELING (SEM)	
15	ACHMAD CHOERUDIN	71
15 .	MACROECONOMIC VARIABLES AND STOCK PRICES: A STUDY OF COLOMBO STOCK	71
	EXCHANGE (CSE) IN SRI LANKA P.ELANGKUMARAN & J.N.JENITTA	
		75
	REQUEST FOR FEEDBACK & DISCLAIMER	, ,

CHIEF PATRON

PROF. K. K. AGGARWAL

Chairman, Malaviya National Institute of Technology, Jaipur
(An institute of National Importance & fully funded by Ministry of Human Resource Development, Government of India)
Chancellor, K. R. Mangalam University, Gurgaon
Chancellor, Lingaya's University, Faridabad
Founder Vice-Chancellor (1998-2008), Guru Gobind Singh Indraprastha University, Delhi
Ex. Pro Vice-Chancellor, Guru Jambheshwar University, Hisar

FOUNDER PATRON

LATE SH. RAM BHAJAN AGGARWAL

Former State Minister for Home & Tourism, Government of Haryana Former Vice-President, Dadri Education Society, Charkhi Dadri Former President, Chinar Syntex Ltd. (Textile Mills), Bhiwani

CO-ORDINATOR

AMITA

Faculty, Government M. S., Mohali

ADVISORS

DR. PRIYA RANJAN TRIVEDI

Chancellor, The Global Open University, Nagaland

PROF. M. S. SENAM RAJU

Director A. C. D., School of Management Studies, I.G.N.O.U., New Delhi

PROF. M. N. SHARMA

Chairman, M.B.A., Haryana College of Technology & Management, Kaithal

PROF. S. L. MAHANDRU

Principal (Retd.), Maharaja Agrasen College, Jagadhri

EDITOR.

PROF. R. K. SHARMA

Professor, Bharti Vidyapeeth University Institute of Management & Research, New Delhi

CO-EDITOR

DR. BHAVET

Faculty, Shree Ram Institute of Business & Management, Urjani

EDITORIAL ADVISORY BOARD

DR. RAJESH MODI

Faculty, Yanbu Industrial College, Kingdom of Saudi Arabia

PROF. SANJIV MITTAL

University School of Management Studies, Guru Gobind Singh I. P. University, Delhi

PROF. ANIL K. SAINI

Chairperson (CRC), Guru Gobind Singh I. P. University, Delhi

DR. SAMBHAVNA

Faculty, I.I.T.M., Delhi

DR. MOHENDER KUMAR GUPTA

Associate Professor, P. J. L. N. Government College, Faridabad

DR. SHIVAKUMAR DEENE

Asst. Professor, Dept. of Commerce, School of Business Studies, Central University of Karnataka, Gulbarga

ASSOCIATE EDITORS

PROF. NAWAB ALI KHAN

Department of Commerce, Aligarh Muslim University, Aligarh, U.P.

PROF. ABHAY BANSAL

Head, Department of Information Technology, Amity School of Engineering & Technology, Amity University, Noida

PROF. A. SURYANARAYANA

Department of Business Management, Osmania University, Hyderabad

DR. SAMBHAV GARG

Faculty, Shree Ram Institute of Business & Management, Urjani

PROF. V. SELVAM

SSL, VIT University, Vellore

DR. PARDEEP AHLAWAT

Associate Professor, Institute of Management Studies & Research, Maharshi Dayanand University, Rohtak

DR. S. TABASSUM SULTANA

Associate Professor, Department of Business Management, Matrusri Institute of P.G. Studies, Hyderabad

SURJEET SINGH

Asst. Professor, Department of Computer Science, G. M. N. (P.G.) College, Ambala Cantt.

TECHNICAL ADVISOR

Faculty, Government M. S., Mohali

FINANCIAL ADVISORS

DICKIN GOYAL

Advocate & Tax Adviser, Panchkula

NEENA

Investment Consultant, Chambaghat, Solan, Himachal Pradesh

LEGAL ADVISORS

JITENDER S. CHAHAL

Advocate, Punjab & Haryana High Court, Chandigarh U.T.

CHANDER BHUSHAN SHARMA

Advocate & Consultant, District Courts, Yamunanagar at Jagadhri

SUPERINTENDENT

SURENDER KUMAR POONIA

CALL FOR MANUSCRIPTS

We invite unpublished novel, original, empirical and high quality research work pertaining to recent developments & practices in the areas of Computer Science & Applications; Commerce; Business; Finance; Marketing; Human Resource Management; General Management; Banking; Economics; Tourism Administration & Management; Education; Law; Library & Information Science; Defence & Strategic Studies; Electronic Science; Corporate Governance; Industrial Relations; and emerging paradigms in allied subjects like Accounting; Accounting Information Systems; Accounting Theory & Practice; Auditing; Behavioral Accounting; Behavioral Economics; Corporate Finance; Cost Accounting; Econometrics; Economic Development; Economic History; Financial Institutions & Markets; Financial Services; Fiscal Policy; Government & Non Profit Accounting; Industrial Organization; International Economics & Trade; International Finance; Macro Economics; Micro Economics; Rural Economics; Co-operation; Demography: Development Planning; Development Studies; Applied Economics; Development Economics; Business Economics; Monetary Policy; Public Policy Economics; Real Estate; Regional Economics; Political Science; Continuing Education; Labour Welfare; Philosophy; Psychology; Sociology; Tax Accounting; Advertising & Promotion Management; Management Information Systems (MIS); Business Law; Public Responsibility & Ethics; Communication; Direct Marketing; E-Commerce; Global Business; Health Care Administration; Labour Relations & Human Resource Management; Marketing Research; Marketing Theory & Applications; Non-Profit Organizations; Office Administration/Management; Operations Research/Statistics; Organizational Behavior & Theory; Organizational Development; Production/Operations; International Relations; Human Rights & Duties; Public Administration; Population Studies; Purchasing/Materials Management; Retailing; Sales/Selling; Services; Small Business Entrepreneurship; Strategic Management Policy; Technology/Innovation; Tourism & Hospitality; Transportation Distribution; Algorithms; Artificial Intelligence; Compilers & Translation; Computer Aided Design (CAD); Computer Aided Manufacturing; Computer Graphics; Computer Organization & Architecture; Database Structures & Systems; Discrete Structures; Internet; Management Information Systems; Modeling & Simulation; Neural Systems/Neural Networks; Numerical Analysis/Scientific Computing; Object Oriented Programming; Operating Systems; Programming Languages; Robotics; Symbolic & Formal Logic; Web Design and emerging paradigms in allied subjects.

Anybody can submit the soft copy of unpublished novel; original; empirical and high quality research work/manuscript anytime in M.S. Word format after preparing the same as per our GUIDELINES FOR SUBMISSION; at our email address i.e. infoijrcm@gmail.com or online by clicking the link online submission as given on our website (FOR ONLINE SUBMISSION, CLICK HERE).

CHINELINES FOR CHRISCIAN OF MANUSCRIPT

	GOIDETHIES LOIL SOUNDSION	OI MIMINOSCIMI I
1.	COVERING LETTER FOR SUBMISSION:	DATED
	THE EDITOR URCM	DATED:
	Subject: SUBMISSION OF MANUSCRIPT IN THE AREA OF.	
	(e.g. Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Comp	outer/IT/Engineering/Mathematics/other, please specify)
	DEAR SIR/MADAM	
	Please find my submission of manuscript entitled '	for possible publication in your journals.
	I hereby affirm that the contents of this manuscript are original. Furthermore, it has neith under review for publication elsewhere.	ner been published elsewhere in any language fully or partly, nor is i
	I affirm that all the author (s) have seen and agreed to the submitted version of the manus	cript and their inclusion of name (s) as co-author (s).
	Also, if my/our manuscript is accepted, I/We agree to comply with the formalities as contribution in any of your journals.	given on the website of the journal & you are free to publish ou
	NAME OF CORRESPONDING AUTHOR:	

Affiliation with full address, contact numbers & Pin Code:

Residential address with Pin Code:

Mobile Number (s):

Landline Number (s):

E-mail Address:

Alternate E-mail Address:

- The whole manuscript is required to be in ONE MS WORD FILE only (pdf. version is liable to be rejected without any consideration), which will start from the covering letter, inside the manuscript.
- b) The sender is required to mention the following in the **SUBJECT COLUMN** of the mail:
 - New Manuscript for Review in the area of (Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/ Engineering/Mathematics/other, please specify)
- There is no need to give any text in the body of mail, except the cases where the author wishes to give any specific message w.r.t. to the manuscript.
- The total size of the file containing the manuscript is required to be below 500 KB.
- e) Abstract alone will not be considered for review, and the author is required to submit the complete manuscript in the first instance.
- The journal gives acknowledgement w.r.t. the receipt of every email and in case of non-receipt of acknowledgment from the journal, w.r.t. the submission of manuscript, within two days of submission, the corresponding author is required to demand for the same by sending separate mail to the journal.
- NUSCRIPT TITLE: The title of the paper should be in a 12 point Calibri Font. It should be bold typed, centered and fully capitalised.
- IOR NAME (S) & AFFILIATIONS: The author (s) full name, designation, affiliation (s), address, mobile/landline numbers, and email/alternate email 3. address should be in italic & 11-point Calibri Font. It must be centered underneath the title.
- ABSTRACT: Abstract should be in fully italicized text, not exceeding 250 words. The abstract must be informative and explain the background, aims, methods, results & conclusion in a single para. Abbreviations must be mentioned in full.

- 5. **KEYWORDS**: Abstract must be followed by a list of keywords, subject to the maximum of five. These should be arranged in alphabetic order separated by commas and full stops at the end.
- 6. MANUSCRIPT: Manuscript must be in <u>BRITISH ENGLISH</u> prepared on a standard A4 size <u>PORTRAIT SETTING PAPER</u>. It must be prepared on a single space and single column with 1" margin set for top, bottom, left and right. It should be typed in 8 point Calibri Font with page numbers at the bottom and centre of every page. It should be free from grammatical, spelling and punctuation errors and must be thoroughly edited.
- 7. **HEADINGS**: All the headings should be in a 10 point Calibri Font. These must be bold-faced, aligned left and fully capitalised. Leave a blank line before each heading.
- 8. **SUB-HEADINGS**: All the sub-headings should be in a 8 point Calibri Font. These must be bold-faced, aligned left and fully capitalised.
- 9. MAIN TEXT: The main text should follow the following sequence:

INTRODUCTION

REVIEW OF LITERATURE

NEED/IMPORTANCE OF THE STUDY

STATEMENT OF THE PROBLEM

OBJECTIVES

HYPOTHESES

RESEARCH METHODOLOGY

RESULTS & DISCUSSION

FINDINGS

RECOMMENDATIONS/SUGGESTIONS

CONCLUSIONS

SCOPE FOR FURTHER RESEARCH

ACKNOWLEDGMENTS

REFERENCES

APPENDIX/ANNEXURE

It should be in a 8 point Calibri Font, single spaced and justified. The manuscript should preferably not exceed 5000 WORDS.

- 10. **FIGURES &TABLES**: These should be simple, crystal clear, centered, separately numbered & self explained, and **titles must be above the table/figure**. Sources of data should be mentioned below the table/figure. It should be ensured that the tables/figures are referred to from the main text.
- 11. **EQUATIONS**: These should be consecutively numbered in parentheses, horizontally centered with equation number placed at the right.
- 12. **REFERENCES**: The list of all references should be alphabetically arranged. The author (s) should mention only the actually utilised references in the preparation of manuscript and they are supposed to follow **Harvard Style of Referencing**. The author (s) are supposed to follow the references as per the following:
- All works cited in the text (including sources for tables and figures) should be listed alphabetically.
- Use (ed.) for one editor, and (ed.s) for multiple editors.
- When listing two or more works by one author, use --- (20xx), such as after Kohl (1997), use --- (2001), etc, in chronologically ascending order.
- Indicate (opening and closing) page numbers for articles in journals and for chapters in books.
- The title of books and journals should be in italics. Double quotation marks are used for titles of journal articles, book chapters, dissertations, reports, working
 papers, unpublished material, etc.
- For titles in a language other than English, provide an English translation in parentheses.
- The location of endnotes within the text should be indicated by superscript numbers.

PLEASE USE THE FOLLOWING FOR STYLE AND PUNCTUATION IN REFERENCES:

BOOKS

- Bowersox, Donald J., Closs, David J., (1996), "Logistical Management." Tata McGraw, Hill, New Delhi.
- Hunker, H.L. and A.J. Wright (1963), "Factors of Industrial Location in Ohio" Ohio State University, Nigeria.

CONTRIBUTIONS TO BOOKS

Sharma T., Kwatra, G. (2008) Effectiveness of Social Advertising: A Study of Selected Campaigns, Corporate Social Responsibility, Edited by David Crowther & Nicholas Capaldi, Ashgate Research Companion to Corporate Social Responsibility, Chapter 15, pp 287-303.

JOURNAL AND OTHER ARTICLES

 Schemenner, R.W., Huber, J.C. and Cook, R.L. (1987), "Geographic Differences and the Location of New Manufacturing Facilities," Journal of Urban Economics, Vol. 21, No. 1, pp. 83-104.

CONFERENCE PAPERS

• Garg, Sambhav (2011): "Business Ethics" Paper presented at the Annual International Conference for the All India Management Association, New Delhi, India, 19–22 June.

UNPUBLISHED DISSERTATIONS AND THESES

• Kumar S. (2011): "Customer Value: A Comparative Study of Rural and Urban Customers," Thesis, Kurukshetra University, Kurukshetra.

ONLINE RESOURCES

Always indicate the date that the source was accessed, as online resources are frequently updated or removed.

WEBSITES

• Garg, Bhavet (2011): Towards a New Natural Gas Policy, Political Weekly, Viewed on January 01, 2012 http://epw.in/user/viewabstract.jsp

STUDYING THE RELATIONSHIP BETWEEN CORPORATE GOVERNANCE AND FINANCING THROUGH THE TWO PERSPECTIVES OF BALANCE SHEET AND CASH FLOW STATEMENT IN FIRMS ACCEPTED IN STOCK EXCHANGE TEHRAN (IRAN)

NASRIN DADASHI
RESEARCH SCHOLAR
MA STUDENT OF ACCOUNTING
ACCOUNTING DEPARTMENT
SCIENCE AND RESEARCH BRANCH
ISLAMIC AZAD UNIVERSITY
GIULAN

EBRAHIM CHEIRANI
ASST. PROFESSOR
ACCOUNTING DEPARTMENT
ISLAMIC AZAD UNIVERSITY
RASHT

ABSTRACT

In the present research the relationship between corporate governance and financing in firms accepted in Tehran Stock Exchange (Iran) has been investigated regarding two perspectives as follows: balance sheet perspective and cash flow statement perspective. The statistical population of the present research included all companies which financed in Tehran Stock Exchange during the time period between 2006 and 2011, regarding the two perspectives mentioned. Corporate governance was the independent variable of the research. To measure corporate governance we have used 4 elements as follows: 1. Board of directors [size of board of directors, independence of board of directors (managers not in charge)], 2. Investors (the ownership percentage of institutional stockholders, the percentage of external stockholders was higher than %5), 3. Auditing (auditing was carried out either by audit organization or other auditing entities), and 4. Board of administrative directors (the isolation of managing director from board of directors and the number of years of experience to manage a company were considered). The dependent variable was financing through long-term loans and internal financing and to calculate it we have utilized the two perspectives of balance sheet and cash flow statement (Kordestani & Najafi-e-Omrani, 2010). Those companies were chosen that have had financed through accumulated earnings, long-term loans or stocks. The statistical sample contained 93 firms accepted in Tehran Stock Exchange. Finally and by using a multiple variable regression the research hypotheses were tested by using Eviews7 software. The research results showed that some elements of corporate governance have a meaningful relationship with financing.

KEYWORDS

corporate governance, financing.

INTRODUCTION

ndoubtedly decisions about financing are considered to be among the most important decisions made by managers of economic units in order to maximize the wealth of stockholders. This type of decision making is related to capital structure and also the identification and selection of the best financing method and its composition. Thus, a financial manager can affect stockholders' wealth through creating changes in some items such as earnings per each share, dividends policy, timing procedure, profitability risk, and financing method selection. In recent decades firms' financing issues have gain a certain position in financial management field. Several artificial methods such as the absorption of surplus cashes of the individuals in the society have been proposed. However, in Iran financing is generally done through banks, stock issuance, accumulated earnings, and savings (except legal ones). On the whole, manages have a main role in financing method selection and the optimized capital composition. Thus, a supervising mechanism, such as corporate governance, can affect optimized financing method election and following that it can affect the decisions made by managers. Researches have shown that the promotion of leadership in corporations in newly emerged markets is important to make sure of the appropriate performance of the companies and financial markets and to increase the trusts of local and foreign investors. Additionally, the promotion of corporate leadership will result in increasing long-term investments and economic growth and the lack of an appropriate corporate leadership will result in damaging the rights of stockholders (especially minor stockholders), probable abuses, capital invested in foreign countries and In limited perspectives, corporate leadership is limited to the relationship between the company and stockholders. This is a traditional pattern which is expressed in the form of agency theory. In the other end of the continuum, corporate leadership can be considered as a network of the relationships which exist not only between the company and its owners (stockholders) but also between the company and a lot of the beneficiaries such as staff, salespersons, holders of bonds and Such an outlook is seen as the beneficiaries' theory (Botshekan & Kharrazi, 2009, 3). Corporate governance acts as a legal structure and a set of direction and control mechanisms of the company and the observation of these rules will result in transparency of goals in working procedure, responsiveness against the beneficiaries and observing their rights.

RESEARCHES CARRIED OUT IN IRAN

Ahmadpour & et al (2010) studied about the effect of corporate governance and auditing quality on financing cost through debt. The findings, using the data of 119 companies from among those which have been accepted in Tehran Stock Exchange between the years 2003 and 2008 and regression analysis of the pooled data by using Eviews software, showed that the existence of main institutional stockholders among the stockholders and their efficient supervisions will result in a reduction in debt cost of the companies in the sample. Meanwhile, auditing quality did not have such an effect.

Nasrollahi & et al (2011) carried out a research about the relationship between corporate governance and information asymmetry in Tehran Stock Exchange. In this research they used Eviews software and tableau data method and GLS method to investigate about the relationship between changes in liquidity in the market and the variables of corporate governance. The results of testing the hypotheses showed that there is a meaningful negative relationship between the percentage of independent managers in board of directors and the percentage of institutional investors and information asymmetry. Also there is a meaningful positive relationship between debt ratio and information asymmetry but there is not a meaningful relationship between size of board of directors and information asymmetry.

Talebnia & Rahimian (2011) investigated about 98 companies accepted in Tehran Stock Exchange during the time period between 2004 and 2008 to test the hypotheses in a research paper entitled: "Studying the relationship between corporate governance strategies and the amount of wealth created for the

stockholders". The statistical analyses were carried out by using Eviews software and the results showed that there is not any meaningful relationship between any of corporate governance strategies and the wealth amount created for the stockholders.

Kordestani & Pirdavari (2012) posed two hypotheses regarding the effects of different external financing on future return of the stocks as 'incorrect pricing for bonds' and 'over-investment' in a research entitled: "Studying the effect of financing methods on future stock return". Based on these hypotheses, different external financing methods have a negative effect on future stock return. The data of this research included 65 firms accepted in Tehran Stock Exchange during the time period between 2006 and 2008. The tests were carried out using pooled data method and temporarily. The findings showed that there is a meaningful relationship between net changes in overall financing and net changes in external financing and unusual return of stock accumulation. But on the contrary to our predictions this relationship was positive. Besides that, the relationship between the ratios of internal financing and external financing in companies with greater growth, has been stronger than the companies with a lower level of growth. Also based on the temporary data the relationship between net changes in internal financing and changes in net operating assets financed through internal resources and unusual return of stock accumulation was positive and meaningful.

FOREIGN RESEARCHES

Park & Sun (2009) showed in their research about corporate governance and financing through stocks in bourse firms during the years between 2000 and 2006 that firms having good corporate governance ranks compared to those with lower ranks (companies having weaker corporate governance) are more opt to finance through stock issuance. They reported that the relationship between the members of board of directors and financing through stocks is negative but there is a positive relationship between institutional governance and stock issuance. They also found positive results considering whether those companies which issue stocks have good corporate governance or not?

Coriniady & Rad (2010) studied corporate governance, financing patterns and debt cost in firms in New Zealand during the years between 2004 and 2008. In this study they used Fama & French's (1999) method and firms' financing method to calculate corporate governance index. They showed that firms having weak corporate governance have more debts compared to firms with a strong corporate governance mechanism. After controlling this effect between the companies they saw that firms with different levels of corporate governance quality use different corporate governance mechanisms regarding financing methods.

Mande & et al (2012) investigated about two hypotheses of: 1- firms with higher corporate governance tend to issue stocks for financing, 2- the relationship between corporate governance and tendency to issue stocks is more in firms having information asymmetry, in a research paper entitled: "Is corporate governance important in financing through stocks or debt?", which has been carried out about the companies accepted in American Stock Exchange during the years between 1998 and 2006. They restudied the issue regarding three criteria of corporate governance, G index, and E index. The results of studying 2000 companies in the United States showed that corporate governance has had a positive effect in choosing the companies for financing through stocks. This relationship was also approved in small companies where there was a greater information asymmetry between stockholders and managers. These results showed that on the contrary to hierarchical theory, appropriate and good corporate governance in companies can affect financing through stocks compared to debt. Unlike this theory financing through debt on the stocks is rejected. Also they suggested as an applied result that those companies which are seeking for a good market for their stocks should exploit from an appropriate corporate governance to use the advantage and inexpensive safety and accessibility of this market.

RESEARCH METHODOLOGY

The present research is post-incidental which studies the hypotheses based on the previous financial data of the companies. It is applied regarding the goal and the results could be utilized directly to choose financing and investing resources. Also it is descriptive regarding the nature. The data in this research include data gathered from financial reports of firms accepted in Tehran Stock Exchange which were extracted from databases, calculated and research models were determined based on them to prepare a basis to test the hypotheses. The raw data needed about the firms to study about the research hypotheses were collected through Rahavard-e-Novin software and also in most cases through the official website of Tehran Stock Exchange and after comparison and removing the frequent disharmonies and being transferred into Excel broadsheet they were transferred into Eviews7 software to do the final analyses.

The statistical population for the present research includes all companies accepted in Tehran Stock Exchange during the time period between 2006 and 2011. Of course, we have considered the followings limitations in gathering data and determining the research sample from among the population above:

- 1. The companies should have been accepted in Stock Exchange up to the start of the year 2006.
- 2. The data needed and the audited financial statements of the companies for the years between 2006 and 2011 should be completely presented and accessible.
- 3. The sample companies should not be from among banks and credit and finance entities (investing companies, leasing companies, financial intermediaries).
- 4. During the study period the companies should not have changed their fiscal year.
- 5. The end of fiscal year should be the end of solar calendar year (21st. March).

Regarding the limitations considered above, the number of the sample selected was 93 companies.

RESEARCH HYPOTHESES

First Hypothesis: There is a meaningful relationship between corporate governance and internal financing (balance sheet perspective).

Second Hypothesis: There is a meaningful relationship between corporate governance and internal financing (cash flow statement perspective).

Third Hypothesis: There is a meaningful relationship between corporate governance and financing through long-term debts (balance sheet perspective).

Fourth Hypothesis: There is a meaningful relationship between corporate governance and financing through long-term debts (cash flow statement perspective). INDEPENDENT VARIABLE

Independent variable in the present research was corporate governance which was measured by 4 elements as follows: 1. Board of directors [size of board of directors, independence of board of directors (managers not in charge)], 2. Investors (the ownership percentage of institutional stockholders, the percentage of external stockholders was higher than %5), 3. Auditing (auditing was carried out either by audit organization or other auditing entities), and 4. Board of administrative directors (the isolation of managing director from board of directors and the number of years of experience to manage a company were considered) and each of them were calculated as follows:

- 1.1- Size of board of directors: if the size of board of directors is less than the average of sample companies we measure it as code 1, or else we scale it as code 0
- 1.2- Independence of board of directors (not in charge managers): if %60 of the managers is not in charge we assign code 1, and if not code 0 will be assigned.
- 2.1- The percentage of institutional stockholders: if institutional ownership of the company is more than the average percentage of the companies in the sample we assign code 1, and if not code 0 will be assigned.
- 2.2- The percentage of external stockholders higher than %5: if the external stockholders in the company is higher than %5 (except for the board of directors), code 1 and if not code 0 will be presented as the scales.
- 3- Great auditing: if the auditing task is carried out by auditing organization we assign code 1, and if not code 0 will be assigned.
- 4.1- Isolation of managing director: if the managing director is not included in board of directors we assign code 1, and if not code 0 will be assigned.
- 4.2- Tenure of managing director: if the tenure of managing director is less than the tenure of the managing director in average sample companies we assign code 1, and if not code 0 will be assigned.

Finally regarding the elements mentioned (corporate governance) the total sum of codes was utilized as a criterion to rank the companies. Companies ranking 7 are considered as companies with high corporate governance, and companies ranking 1 were categorized as companies with low corporate governance.

DEPENDENT VARIABLE

The dependent variables in the present research were: financing through long-term loans and internal financing which have been calculated and shown in table (1) regarding the two perspectives f balance sheet and cash flow statement.

TABLE (1): INFORMATION RELATED TO THE DEPENDENT RESEARCH VARIABLES AND THE RELATED CALCULATIONS

No.	Variable title	Measurement method			
1	Net changes in internal	Balance sheet perspective: the difference between accumulated earnings and the end of the previous period before			
	financing (ΔIFin)	adjustments			
		Cash flow statement perspective: cash resulting from operations + cash resulted from sales			
2	Net changes in debts created	Balance sheet perspective: the net changes in total debts after the reduction of net changes in savings of pensions of			
	for financing (ΔDebt)	staffs at the time of retirement and the proposed stock profit and the paid profit			
		Cash flow statement perspective: net cash increase resulted from debts of financing activities – income tax paid			

CONTROL VARIABLE

The control variables in the present research were as follows: sales changes logarithm (LOGSALE_{it}), the ratio of debts to assets (BA_{it}), firm size (assets' logarithm), the ratio of fixed assets to total assets (TFAR_{it}), the ratio of net earnings to assets (EBITR_{it}), and the ratio of market value of the stock to the nominal stock value (BMV_{it}).

RESEARCH FINDINGS

In this part and in order to enter data analysis, the descriptive statistics of the data including: central indexes, dispersion indexes, and deviation from symmetry and also Jarque-Bera test which approves the normal distribution of the leftovers, were calculated and the results were presented in table (2).

TABLE (2): THE DESCRIPTIVE STATISTICS OF RESEARCH VARIABLES

								RE	SEARCH V	ARIABLES	;							
BA	LOGSALI	EBITR	BMV	TFAR	LOGASSET	GOV	FBAU	BDS	MOFU	YTV	OWN	UBR	SUMNUM	DEBTSJ	DEBTT	IFINSJ	IFINT	Symbol in the model
5.7	2.1	0.94	2.54	0.35	5.73	4.11	0.19	0.88	0.07	0.7	67.	0.6	5.035	86473.	0.247	3.696	1.70	Average
0.2	4.4	0.07	1.51	0.33	5.65	4.00	0.00	1.00	0.00	1.00	75.	0.6	5.00	4.80	3.26	4.630	4.0	Mean
598.4	8.02	91.87	86.9	0.85	8.0	7.00	1.00	1.00	1.0	1.0	99.0	4.	7.0	3349	7.03	7.33	7.04	Maximum
-3.7	-7.15	-2.79	-10	0.03	4.26	1.0	0.00	0.00	0.00	0.00	0.00	0.2	5.0	-1251.	-6.496	-6.51	-6.6	Minimum
44.9	4.22	7.08	7.53	0.18	0.59	0.99	0.4	0.31	0.26	0.42	27.7	0.2	0.244	1432	4.713	3.02	4.12	Criterion deviation
10.7	-0.88	10.1	-1.6	0.52	1.30	-0.3	1.5	-2.4	3.1	-1.2	-1.1	7.3	7.17	22.89	-0.043	-2.19	-0.7	Skewdness
125.8	2.01	111.5	108.	2.64	5.57	3.10	3.25	6.81	11.0	2.52	3.42	11.	54.8	534.0	1.105	6.44	1.7	Pulling
310	671	65	36	94	282	25	28	31	12.	210.	876.	241	146.4	131.1	3106	671	65	Jarque-Bera statistics
0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.0	Statistics probability
558																		Observations

Since normality of data distribution is one of the presuppositions of the regression model, the normality of the distribution of the research variables was investigated and Jarque-Bera's test was utilized to do so. According to the calculations estimated by Eviews7 software and presented in table (1), all probabilities are equal to 0. Thus, the null hypothesis was rejected and it was found that the distribution of variables' data was not normal. But regarding the central tendency and the high frequency of the observations (sample number) we can ignore normality presupposition.

One of the main problems arising in time series regressions is artificial regression phenomenon. Artificial regression refers to the state in which on the contrary to the existence of an adjusted identification coefficient (R^2), there is not a meaningful relationship between the variables. To be ensured about the research results and lack of artificial relationships in the regression and meaningfulness of the variables we carry out survival test and calculate the square root of the research variables in EGLS model. The results of Hudri's hypotheses (table 3) show the survival of variables. Thus, the null hypothesis claiming that the variables have square roots is rejected.

H₀: there is a root for the unit

H₁: there is not a root for the unit

TABLE (3): SURVIVAL TEST OF VARIABLES

Hypotheses	Meaningfulness	Statistics
1	0.0000	11.4963
2	0.0000	10.3754
3	0.0000	10.4020
4	0.0000	101704

HYPOTHESES ANALYSES

In this research we have used static pooled data method to test the hypotheses. In this method first we use a test called Chow's test which is also called structural changes test to choose from among the two models of pooled and fixed effects. Chow's test is an equilibrium test between a set of coefficients in a linear regression. After carrying out Chow's test if the administration of pooled model is approved, our task will be terminated in this stage. But if fixed effects model is approved we should test it against random effects model to identify the optimal model from among these two models and this will be done by using Hausman's test. An alternative method to estimate fixed effects model is the estimation by random effects model. Below we will deal with the tests carried out and the tables of the results of the administration of the model will be presented by using Eviews software version 7.01.

CHOW'S TEST OR THE TEST OF STRUCTURAL CHANGES RELATED WITH THE HYPOTHESES

To test the research hypotheses first we estimate fixed effects model of the time and then we will use structural changes test to study the meaningfulness differences.

As it can be seen regarding the meaningfulness level achieved, the pooled data model is selected as the preferred one for the hypotheses except hypothesis 1. Regarding hypothesis 1 and due to the meaningfulness of first hypothesis, fixed effects model was selected and it should be investigated by random effects model through Hausman's test. Next, Hausman's test related to the first research hypothesis will be carried out in the state a. To do this test first we should estimate random effects time model. Hausman's test to study the existence of random effects will be arranged as follows:

TABLE (4): HAUSMAN'S TEST

7.10 L C 1.10 L C 1.10 L						
Meaningfulness	Freedom degree	Statistics	Test effect	Hypotheses		
0.3776	14	15.008736	random	testing the model in first hypothesis		

The statistical method used in the present research is the regression method using pooled data. To estimate the regression models with panel data we use estimated generalized least squares method (EGLS). The hypotheses were tested through the results of economy measurements and multi-variable regression. To determine the regression model meaningfulness we have utilized Fisher's statistics. To study the meaningfulness of the independent variables' coefficients in each model we have used t student statistics in %95 level. Also Durbin-Watson's test was used to study whether there is the problem of self-correlation between the leftover sentences or not. If there occurs ant rejection of the classic presuppositions of the linear regression model such as variance divergence or self-correlation between interfering elements of the model, we will use first order self-regression pattern AR(1) to modify and adjust the model finally.

FIRST HYPOTHESIS MODEL

 $IFINT_{it} = \alpha_0 + \beta_1 Sumnum_{it} + \beta_2 UBR_{it} + \beta_3 OWN_{it} + \beta_4 YTV_{it} + \beta_5 MOFU_{it} + \beta_6 BDS_{it} + \beta_7 FBAU_{it} + \beta_8 GOV_{it} + \beta_9 LOGASSET_{it} + \beta_{10} TFAR_{it} + \beta_{11} BMV_{it} + \beta_{12} EBITR_{it} + \beta_{13} LOGSALE_{it} + \beta_{14} BA_{it} + \epsilon_{it}$

TABLE (5): RESULTS OF TESTING THE FIRST HYPOTHESIS USING EGLS METHOD

Variables	Coefficient	Criterion deviation	t statistics	Meaningfulness
С	-13.81898	4.348804	-3.177650	0.0016
SUMNUM	2.425673	0.797102	3.043115	0.0025
UBR	-0.183679	0.830703	-0.221113	0.8251
OWN	0.001864	0.006326	0.294647	0.7684
YTV	-0.629074	0.509511	-1.234660	0.2175
MOFU	-0.863054	0.718327	-1.201479	0.2301
BDS	-0.135315	0.648830	-0.208552	0.8349
FBAU	-0.967496	0.492073	-1.966163	0.0498
GOV	0.529594	0.295501	1.792189	0.0737
LOGASSET	0.208580	0.291510	0.715516	0.4746
TFAR	0.646537	0.941914	0.686407	0.4927
BMV	0.000225	0.021662	0.010382	0.9917
EBITR	0.121042	0.051779	2.337674	0.0198
LOGSALE	0.264975	0.040000	6.624293	0.0000
BA	-0.022309	0.007908	-2.821281	0.0050
Durbin-Watson statistics	2.104389			
Adjusted identification coefficient	0.094324			
F statistics	5.136154			
F statistics probability	0.000000			

As it can be seen in the table (4-6) above, the F statistics' index of model adjustment in error level of lack of assurance is %5 bigger. Thus, we can claim that the model above is not meaningful. And the amount of Durbin-Watson statistics equals 2.1 and it shows that this statistic is suitable and it shows the removal of self-correlation problem between the interfering elements of the primary model. The amount of the adjusted identification coefficient of the model shows that the estimated variables of the model have %9.4 capability to describe the changes in the dependent variable. In table (4-7) above, the results of analyzing the independent variables present in test model of the first hypothesis have been represented.

TABLE (6): RESULTS RELATED TO THE INDEPENDENT VARIABLES IN FIRST HYPOTHESIS

Independent variable	Meaningfulness	Effect type
SUMNUM	meaningful	direct
UBR	meaningless	-
OWN	meaningless	-
YTV	meaningless	-
MOFU	meaningless	-
BDS	meaningless	-
FBAU	meaningless	reverse
GOV	meaningless	-

Second hypothesis model

 $IFINSJ_{it} = \alpha_0 + \beta_1 Sumnum_{it} + \beta_2 UBR_{it} + \beta_3 OWN_{it} + \beta_4 YTV_{it} + \beta_5 MOFU_{it} + \beta_6 BDS_{it} + \beta_7 FBAU_{it} + \beta_8 GOV_{it} + \beta_9 LOGASSET_{it} + \beta_{10} TFAR_{it} + \beta_{11} BMV_{it} + \beta_{12} EBITR_{it} + \beta_{13} LOGSALE_{it} + \beta_{14} BA_{it} + \epsilon_{it}$

TABLE (7): RESULTS OF TESTING THE SECOND HYPOTHESIS USING EGLS METHOD

Variables	Coefficient	Criterion deviation	t statistics	Meaningfulness
С	5.656302	1.621617	3.488062	0.0005
SUMNUM	-0.866092	0.314788	-2.751348	0.0062
UBR	-0.080511	0.342788	-0.234870	0.8144
OWN	0.002364	0.001561	1.514816	0.1305
YTV	-0.406324	0.144678	-2.808473	0.0052
MOFU	-0.628854	0.205676	-3.057503	0.0024
BDS	0.145389	0.162454	0.894955	0.3713
FBAU	-0.093370	0.138844	-0.672482	0.5016
GOV	0.181849	0.081500	2.231262	0.0262
LOGASSET	0.286179	0.082220	3.480644	0.0005
TFAR	-0.050064	0.264629	-0.189185	0.8500
BMV	0.016489	0.005191	3.176658	0.0016
EBITR	-0.035872	0.041015	-0.874621	0.3822
LOGSALE	0.062070	0.012071	5.141908	0.0000
BA	0.005014	0.005030	0.996871	0.3194
Durbin-Watson statistics			2.423959	
Adjusted ide	entification co	0.201378		
F statistics		2.322635		
F statistics p	robability		0.000000	

As it can be seen in the table (4-8) above, the F statistics' index of model adjustment in alpha error level of %5 is bigger. Thus, we can claim that the model above is meaningful. And the amount of Durbin-Watson statistics equals 2.42 and it shows that this statistic is suitable and it shows the removal of self-correlation problem between the interfering elements of the primary model. The amount of the adjusted identification coefficient of the model shows that the estimated variables of the model have %20 capability to describe the changes in the dependent variable. In table (4-9) above, the results of analyzing the independent variables present in test model of the second hypothesis have been represented.

TABLE (8): RESULTS RELATED TO THE INDEPENDENT VARIABLES IN SECOND HYPOTHESIS

Independent variable	Meaningfulness	Effect type
SUMNUM	meaningful	reverse
UBR	meaningless	-
OWN	meaningless	-
YTV	meaningful	reverse
MOFU	meaningful	reverse
BDS	meaningless	-
FBAU	meaningless	-
GOV	meaningful	direct

Third hypothesis model:

 $DEBTT_{it} = \alpha_0 + \beta_1 Sumnum_{it} + \beta_2 UBR_{it} + \beta_3 OWN_{it} + \beta_4 YTV_{it} + \beta_5 MOFU_{it} + \beta_6 BDS_{it} + \beta_7 FBAU_{it} + \beta_8 GOV_{it} + \beta_9 LOGASSET_{it} + \beta_{10} TFAR_{it} + \beta_{11} BMV_{it} + \beta_{12} EBITR_{it} + \beta_{11} BMV_{it} + \beta_{12} EBITR_{it} + \beta_{13} BMV_{it} + \beta_{14} BMV_{it} + \beta_{15} BMV_{it} + \beta_{$ $\beta_{13}LOGSALE_{it} + \beta_{14}BA_{it} + \epsilon_{it}$

TABLE (9): RESULTS OF TESTING THE THIRD HYPOTHESIS USING EGLS METHOD

Variables	Coefficient	Criterion deviation	t statistics	Meaningfulness
С	-3.713749	5.215686	-0.712035	0.4768
SUMNUM	-0.204551	1.000161	-0.204518	0.8380
UBR	0.880368	0.891076	0.987983	0.3237
OWN	-0.000193	0.005342	-0.036205	0.9711
YTV	0.136460	0.432912	0.315214	0.7527
MOFU	-0.174674	0.716369	-0.243832	0.8075
BDS	-0.790323	0.533086	-1.482544	0.1389
FBAU	0.939246	0.370572	2.534584	0.0116
GOV	-0.243010	0.238701	-1.018051	0.3092
LOGASSET	0.932499	0.314674	2.963378	0.0032
TFAR	0.723220	0.740556	0.976591	0.3293
BMV	0.015431	0.021223	0.727104	0.4675
EBITR	0.090494	0.063010	1.436184	0.1516
LOGSALE	0.056329	0.035917	1.568312	0.1175
BA	0.004801	0.009189	0.522529	0.6016
Durbin-Watson	statistics	2.471030		
Adjusted identif	ication coefficient	0.698277		
F statistics		13.11729		
F statistics proba	ability	0.000000		

As it can be seen in the table (4-10) above, the F statistics' index of model adjustment in alpha error level of %5 is bigger. Thus, we can claim that the model above is meaningful. And the amount of Durbin-Watson statistics equals 2.47 and it shows that this statistic is suitable and it shows the removal of selfcorrelation problem between the interfering elements of the primary model. The amount of the adjusted identification coefficient of the model shows that the estimated variables of the model have %69 capability to describe the changes in the dependent variable. In table (4-11) above, the results of analyzing the independent variables present in test model of the second hypothesis have been represented.

TABLE (10): RESULTS RELATED TO THE INDEPENDENT VARIABLES IN THIRD HYPOTHESIS

Independent variable	Meaningfulness	Effect type
SUMNUM	meaningless	-
UBR	meaningless	-
OWN	meaningless	-
YTV	meaningless	-
MOFU	meaningless	-
BDS	meaningless	-
FBAU	meaningful	direct
GOV	meaningless	-

Fourth hypothesis model:

 $DEBTSJ_{it} = \alpha_0 + \beta_1 Sumnum_{it} + \beta_2 UBR_{it} + \beta_3 OWN_{it} + \beta_4 YTV_{it} + \beta_5 MOFU_{it} + \beta_6 BDS_{it} + \beta_7 FBAU_{it} + \beta_8 GOV_{it} + \beta_9 LOGASSET_{it} + \beta_{10} TFAR_{it} + \beta_{11} BMV_{it} + \beta_{12} EBITR_{it} + \beta_{11} BMV_{it} + \beta_{12} EBITR_{it} + \beta_{13} BMV_{it} + \beta_{14} BMV_{it} + \beta_{15} BMV_{it} + \beta_$ $\beta_{13}LOGSALE_{it} + \beta_{14}BA_{it} + \epsilon_{it}$

TABLE (11): RESULTS OF TESTING THE FOURTH HYPO	OTHESIS USING EGLS METHOD
--	---------------------------

Variables	Coefficient	Criterion deviation	t statistics	Meaningfulness
C	572078.6	133686.4	4.279257	0.0000
SUMNUM	-109631.9	25400.86	-4.316070	0.0000
UBR	22527.25	25606.07	0.879762	0.3795
OWN	-88.79685	152.1786	-0.583504	0.5598
YTV	-11921.10	13636.23	-0.874222	0.3825
MOFU	-7180.825	15688.45	-0.457714	0.6474
BDS	-9367.629	15665.73	-0.597970	0.5502
FBAU	3046.114	11226.60	0.271330	0.7863
GOV	2557.993	6838.951	0.374033	0.7086
LOGASSET	10449.25	8942.393	1.168507	0.2432
TFAR	9139.655	22345.66	0.409013	0.6827
BMV	-279.8946	656.4428	-0.426381	0.6700
EBITR	-7633.475	1894.720	-4.028814	0.0001
LOGSALE	-1063.490	928.8084	-1.145004	0.2528
BA	2113.830	246.8170	8.564363	0.0000
Durbin-Watson s	tatistics	2.343209		
Adjusted identification coefficient		0.299984		
F statistics	•	3.247803		
F statistics probability		0.000000		

As it can be seen in the table (4-12) above, the F statistics' index of model adjustment in alpha error level of %5 is bigger. Thus, we can claim that the model above is meaningful. And the amount of Durbin-Watson statistics equals 2.34 and it shows that this statistic is suitable and it shows the removal of self-correlation problem between the interfering elements of the primary model. The amount of the adjusted identification coefficient of the model shows that the estimated variables of the model have %29 capability to describe the changes in the dependent variable. In table (4-13) above, the results of analyzing the independent variables present in test model of the second hypothesis have been represented.

TABLE (12): RESULTS RELATED TO THE INDEPENDENT VARIABLES IN THIRD HYPOTHESIS

Independent variable	Meaningfulness	Effect type
SUMNUM	meaningful	reverse
UBR	meaningless	-
OWN	meaningless	-
YTV	meaningless	-
MOFU	meaningless	-
BDS	meaningless	-
FBAU	meaningless	-
GOV	meaningless	-

RESEARCH LIMITATIONS

Lack of a complete access to the financial statements through different ways was one of the limitations in the present research although the information should be completely represented for the users. The biggest limitation was related to the collection of corporate governance information (4 elements) where commonly constitutional information was needed but there was not a suitable structure to present corporate governance information in notes along with financial statements of the companies enlisted in bourse and the companies do not present information precisely.

SOME SUGGESTIONS BASED ON THE PRESENT RESEARCH

The evidences resulted show that some elements of corporate governance are effective, regarding the type of financing. Thus, it can be suggested that firms should consider an element or some elements of corporate governance regarding the type and method of financing which has the most effect on the method mentioned or on financing (the number of members of board of directors and great auditing through internal and external financing perspectives through debt have always had a meaningful relationship). Now, it is suggested that firms should use a smaller number of the members of board of directors, carrying out auditing services by auditing organization and using not in charge board of directors in board of directors to be able to improve corporate governance.

SUGGESTIONS FOR FUTURE RESEARCHS

- 1- Using other corporate governance indexes such as E and G indexes.
- 2- Doing similar researches in different time ranges and studying industries in isolation can describe the relationships mentioned in this research better.

RESEARCH RESULTS

The results of the research hypotheses showed that corporate governance elements in internal financing are more effective than financing through long-term loans.

- > The results of the first hypothesis showed that there is a meaningful relationship between great auditing variables and the number of board of directors' members (2 elements of corporate governance elements) and internal financing (regarding balance sheet perspective).
- > The results of the second hypothesis showed that there is a meaningful relationship between the variables of managing director tenure years, external investors with higher than %5 and overall index of corporate governance (3 elements of corporate governance elements) and internal financing (regarding cash flow statement perspective).
- > The results of the third hypothesis showed that there is a meaningful relationship between great auditing variable (an element from among corporate governance elements) and financing through long-term loans (regarding balance sheet perspective).
- > The results of the fourth hypothesis showed that there is a meaningful relationship between board of directors' variable (an element from among corporate governance elements) and financing through long-term loans (regarding cash flow statement perspective).

REFERENCES

- 1. Ahmadpour, Ahmad; Kashanipour, Mohammad; Shojaee, Mohammadreza 2010. Studying the effect of corporate governance and auditing quality on financing cost through debt. Department of Management in Tehran University.
- 2. Botshekan, Mohammadhashem; Rahbari-e-Kharrazi, Mahsa 2009. Corporate governance: the amount of observing stockholders' rights in firms accepted in Tehran Stock Exchange.
- 3. Koerniadi, Hardjo and Tourani-Rad, Alireza, Corporate governance, financing patterns and the cost of capital: Evidence from New Zealand companies.
- 4. Kordestani, Gholamreza; Najafi-e-Omran Mazaher 2010. Studying the effect of financing methods on future stock return, Journal of Accounting Developments (Shiraz University Social Sciences and Humanities Department).
- 5. Mande Vivek; Young K. Park; Son Myungsoo 2012. Corporate governance: An International Review, 20(2): 195-211.
- 6. Nasrollahi, Zahra; Arefmanesh, Zohreh; Raeesi, Mahin 2011. Studying the relationship between corporate governance and information asymmetry in Tehran Stock Exchange, Financial management and Accounting Perspective Journal.
- 7. Park, Young k. and Son , Myungsoo, Corporate Governance and Equity finance.
- 8. Talebnia, Ghodratollah; Rahimian, Nezamildin; Bagheri, Mojtaba 2011. Studying the relationship between corporate governance approaches and the amount of wealth created for the stockholders. Quarterly Journal of Management Accounting, Year 4, No. 11.

REQUEST FOR FEEDBACK

Dear Readers

At the very outset, International Journal of Research in Commerce, IT & Management (IJRCM) acknowledges & appreciates your efforts in showing interest in our present issue under your kind perusal.

I would like to request you tosupply your critical comments and suggestions about the material published in this issue as well as on the journal as a whole, on our E-mailinfoijrcm@gmail.com for further improvements in the interest of research.

If youhave any queries please feel free to contact us on our E-mail infoijrcm@gmail.com.

I am sure that your feedback and deliberations would make future issues better – a result of our joint effort.

Looking forward an appropriate consideration.

With sincere regards

Thanking you profoundly

Academically yours

Sd/-

Co-ordinator

DISCLAIMER

The information and opinions presented in the Journal reflect the views of the authors and not of the Journal or its Editorial Board or the Publishers/Editors. Publication does not constitute endorsement by the journal. Neither the Journal nor its publishers/Editors/Editorial Board nor anyone else involved in creating, producing or delivering the journal or the materials contained therein, assumes any liability or responsibility for the accuracy, completeness, or usefulness of any information provided in the journal, nor shall they be liable for any direct, indirect, incidental, special, consequential or punitive damages arising out of the use of information/material contained in the journal. The journal, nor its publishers/Editors/Editorial Board, nor any other party involved in the preparation of material contained in the journal represents or warrants that the information contained herein is in every respect accurate or complete, and they are not responsible for any errors or omissions or for the results obtained from the use of such material. Readers are encouraged to confirm the information contained herein with other sources. The responsibility of the contents and the opinions expressed in this journal is exclusively of the author (s) concerned.

ABOUT THE JOURNAL

In this age of Commerce, Economics, Computer, I.T. & Management and cut throat competition, a group of intellectuals felt the need to have some platform, where young and budding managers and academicians could express their views and discuss the problems among their peers. This journal was conceived with this noble intention in view. This journal has been introduced to give an opportunity for expressing refined and innovative ideas in this field. It is our humble endeavour to provide a springboard to the upcoming specialists and give a chance to know about the latest in the sphere of research and knowledge. We have taken a small step and we hope that with the active cooperation of like-minded scholars, we shall be able to serve the society with our humble efforts.

Our Other Fournals





